Name:

Degrees on a Thermometer

Directions: Record the correct temperature on each thermometer. Write the
temperature with the correct unit.
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It was 56°F and It was 0°C and It was -10°F and It was 46°C and
the temperature the temperature the temperature the temperature
dropped 13". rose 52°, rose 55°. dropped 57°.

Write the corresponding Celsius temperature for each Fahrenheit temperature.

60°F =

10°F =

90°F =

’C 55T = 'C
'C 122°F = °'C
'C 32°F = 'C
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TOPIC 4-f: Area of Triangles

MIDDLE SCHOOL MATHWITH PIZZAZZ! BOOK D
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Name : Score:

- (Filling Numbers) heet

Fill in the blanks using the given numbers in each problem.
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7) + ) X = 64 8) ( )} X 5 = 28




Student Name:

[ Simplify and Find the Square Root
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Printable Math Worksheets @ www.mathworksheets4kids.com




Name :

Score:

@rder of Operations: Bas@

L3EST

Solve.
(
1) 6+42+2-15 \(r2)36—10x2+5—ﬂ )
ws- () ws- ()
e AN J
N 3
3) 25x2-42+-6+18 4) 3+32+8-9
\_ AN "
R I
5) 84+9-2x3 6) 4-6x2+2+2
I\ N r.
N ™
7) 12+2x6+4-3 8) 63+7x3-4
ws- () - ()
Ao A N P
N7 R
9) 4+8-5x%x6 10) 5+36=+2%x3-4

A,

Ans =




Name : Score :

- (Missing Numbers) &l

Fill in the missing number in each problem.

1) +8xXx6-12=50 2) 24 + +5%x3+2=20
3) 24+ 3x =17 4) +2+7x5=38

5 10+ +6-3+16 =26 6) 12-6+ X 3 =33

7) +3-10=2 8 9+3+8x2+ = 20
9) 9 - + 14 x 2 =30 10) +5-7=-4




Area of irregular polygons.notebook % 5 February 27, 2018

Hame:
Area
Coitulate the totol area of these irregular shopes by first dividing thems into two regular shupes.
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Why Do Elephants Have Ivory Tusks?

Do each exercise and find your answer in the answer columns. Write the letter of the
answer in each box containing the number of the exercise.

|. Find the area of each figure.

@ 6m @ 6 m @ 6m

4m ‘ 4m 5 4m I
2m | 2m
@ 5 in. @ 12in. | @ 9 cm
7in. 10 cm
10in. 12 in.
6in. 5cm
i 18 cm
B, 7in.
ll. Find the area of the shaded region in each figure.
@ yard with sandbox . wall with windows @ sidewalk

around pool

15 ft
30 ft
20 ft 16 ft

fll. Solve. 30 ft

A bedroom is 15 ft long and 12 ft wide. @ A rose garden in the city park is
How much will it cost to carpet the room rectangular and is 9 m wide. If the area
if carpeting costs $22 per square yard? of the rectangle is 144 m2, what is the
(1yd=31t) length of the garden?

sscccvesesssscescsesncscsse ANSWERS ecccvcccccsccscccccscsccncos

(A) 21912 (T) 68in2 (U) 25112 (G) 124 om2 (C) 21 m?2 (N) $440

(L 20m2  (F) $520 (V) 108in.2 (E) 24m2 (D) 88 ft2 ® 19 m

@ 135 cm?2 @ 171 2 ® 16 m 165 ft2 119 in.2 @ 18 m2
3 8

le11 1031o~195372 11794]
|
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Name :

Teacher :

Score :
Date :

Compound Shapes

Find the area of each figure, round your answer to the nearest whole number if necessary.

B4t

54 ft

541t

90 ft

Area:

24 yd

12 yd

48 yd

Area:

14 in

Area:

2)
18 in
_ 16 in
1 in |16 in
Area:
5
) 25 ft 254
15 ft
2.5 ft J
le—
Area:
8)
4 ft

Area:

3)

4.5in

6)

9)

23 vyd |

e

6in 3in

Area:

4 yd

4 yd

4 yd

8 yd

Area:

22 yd

| 20 yd

20 yd

Area:
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